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Let op: beantwoord een open vraag altijd in het Nederlands, behalve als het 
anders is aangegeven. Als je in het Engels antwoordt, levert dat 0 punten op. 
 
 

Tekst 1  From a speech  
 

1p 1 Which of the following could be an alternative ending to the last 
sentence? 
A and make binding international rules to further road safety. 
B and make binding international rules to restrain the multinationals. 
C and make binding international rules to safeguard corporate interests. 
D and make binding international rules to stimulate the global economy. 
 
 

Tekst 2  European ruling  
 
“European ruling” (titel) 

1p 2 Geef van elke van de volgende punten aan of Mike Short dit noemt als 
probleem bij de invoering. 
Noteer “wel” of “niet” achter elk nummer op het antwoordblad. 
1 Implementation is hindered by the current infrastructure of the web. 
2 The interpretation of the “right to be forgotten” depends on one’s 

cultural background. 
 


